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Name ______________________________

1.  You are scheduled for an office visit with Gorf Enterprises in Houston next weekend.  You have heard through the grapevine that one of the first questions they ask you during the interview is what major problems Gorf seems to be having the present.  Most everyone has discussed recent stories that have shown up in the Wall Street Journal about Gorf.  However, you have decided to do some research on your own.

a.  In addition to the financial statements contained in the 10-k, what information will you need to gather in order to do your analysis?

b.  How will you use this information to determine any problems that Gorf might be having?

2.  Pickstar CEO Steve Blobs has recently stated that Pickstar expects to continue paying quarterly dividends for the forseeable future.  How would you use the following information to determine the rate you should use to calculate the present value of these dividends so that you can decide how much Pickstar is worth?


Return on:

Economic Conditions
Probability
Pickstar
S&P500
T-bills
Let the good times roll
.35
52%
26%
4.8%


Ho Hum
.45
18%
12%
4.8%

Crash and burn 
.20
-14%
-2%
4.8%

3.  You think that like most Internet stocks Yahooie Inc. is wildly overvalued.  As a result, you would like to purchase some puts on Yahooie stock that expire 7 months from today and which have an exercise price of $80 per share.  Use the following information to determine a fair price to pay for 6 put contracts on Yahooie.

Price of Yahooie stock:  Yahooie stock was issued 2 years ago at $25 per share.  Within a month, the price had risen to $70 per share.  Yahooie stock price at the moment equals $112 per share.  By 7 months from today, you expect the price of Yahooie to fall to $60 per share and by a year from today you expect Yahooie to sell for $15 per share.

Standard deviation of returns on Yahooie stock:  In the first month after Yahooie stock was issued, the standard deviation of returns on Yahooie was 82%.  Over the next 2 years, the standard deviation of returns is expected to be 46%.  This is almost twice as volatile as the market which is expected to have a standard deviation of returns of 23% but is roughly in line with the average Internet stock which is expected to have a standard deviation of returns of 43% over the next 2 years.

Return on Treasuries (all with continuous compounding):  1 month = 5.32%, 2 months = 5.15%, 3 months = 5.23%, 6 months = 5.56%, 7 months = 5.74%; 1 year = 5.81%; 2  year = 5.96%

4.  Due to unexpectedly high demand , Go Beyond Inc. is considering expanding its production capacity.  This new capacity will involve expanding current facilities using land which currently contains employee parking.  Land  to provide additional parking (to replace the parking spaces which will be lost) can be purchased for $125,000.  Expanding the production facilities would involve spending $350,000 immediately then $400,000 per month for the next 3 months.  During the expansion, the current production line would have to be shut down and sales of $30,000 per month would be lost.  However, production costs of $17,000 per month would also be saved during the shut down.  Four months from today, the expanded facility will open and sales would increase from the current $30,000 per month to $68,000 per month.  Production costs will increase from $17,000 per month to $32,000 per month.  Production from the expanded facility is expected to continue through 15 years from today.  If the required return on the project is 14.5% per year, should it be undertaken?

5.  Northern Utility has just announced that it intends to cut its quarterly dividend payment.  In the press release, Northern has stated that the firm believes it has found alternative uses of the cash which it believes would better serve stockholder interests.  It then goes on to discuss those alternative uses of the cash.  

a.  Given our discussion in class, what alternative actions might Northern be talking about?  

b.  How would these alternative uses for the cash be in stockholder interests?

c.  How might cutting the quarterly dividend to pursue these actions end up hurting stockholders?
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6.  VALinux Inc. has recently changed from paying bonuses on the basis of Earnings Per Share to paying bonuses on the basis of Economic Value Added.  

a.  How will a bonus based on EVA better align the interests of managers and stockholders than a bonus system based on EPS?

b.  How would you expect the behavior of managers to change as a result of the switch in incentive systems?

7.  Yesterday Breordus Inc. and Cruxty Inc. both announce that they intended to increase their leverage by issuing debt and using the proceeds to repurchase common stock.  At the announcement, Breordus’s stock price rose and Cruxty’s fell.  Given our discussion of capital structure, how would you explain this difference in how the market responded to these announcements?

8.  The CFO of Dotcom  Inc. states that because of the rapid increase in Dotcom’s stock price, he estimates that the annual rate of return on Dotcom equals 29% per year.  As a result, Dotcom will not consider investing in any asset which offers an internal rate of return of less than 29% per year. Discuss why such a rule will likely lead to sub-optimal investing from the stockholder’s perspective.







